LT50/LTM50-CB
C € exoorsz

v,

C € Eneoorat

v,

HAND TORCH
Code | Ref
WITH HIGH FREQUENCY IVT6800 1526 Plasma cutting torch LT50/6m 1/8G;% & T4 &I#8/LT50/6m 1/8G
=% IVT6805 Plasma cutting torch LT50/6m 1/4G:% & F 1 $148/LT50/6m 1/4G
IVT6806 Plasma cutting torch LT50/6m M14x1;% & F ] #/48/LT50/6m/M14x1
1 IVT6809 Plasma cutting torch LT50/6m M16x1.5;% # F ] Z]48/LT50/6m/M16x1.5

3 é 11 12 IVT6807 1574 Plasma cutting torch LT50/6m central adaptor; 3 & F #1E#/LT50/6m/sh S & sk
! I—- 5 s MACHINE TORCH
" Ref
2 6

IVT6730 Plasma cutting auto torch LTM50/6m 1/8G; % & F B 511 £146/LTM50/6m 1/8G
IVT6722 Plasma cutting auto torch LTM50/6m 1/4G;% & F B 1 ¥ £4#6/LTM50/6m 1/4G

i IVT6723 Plasma cutting auto torch LTM50/6m M14x1;% & F B s ] £]4£/LTM50/6m/M14x1
- IVT6724 Plasma cutting auto torch LTM50/6m M16x1.5;% & F 8 &) ] £1#/LTM50/6m/M16x1.5
3 IVT6736 Plasma cutting auto torch LTM50/6m central adaptor; & & F (& & ] £ 48/LTM50/6m/mh 53 Sk
Position | Code | Ret | Desoipion ]
1 1SM0603 SPACER SPRING/LT50; FEE#/LT50
2 1SM0006 Shield cap for extended tip/LT50;4 # il ) £ % 47 18/LT50
3 Outside nozzle;5h B
3.1 1VS0008-03 5.710.121 Outside nozzle LT50;4h B LT50
3.2 1VS0008-01 Outside nozzle/maximum life LT50;5h Bi#/4< % & LT50
4 1VU0069-10 1306 Extended conical tip ® 1.0mm/LT50; 10 4 # # WM ® 1.0mm/LT50
5 Extended tip;in & M5B
5.1 1IVU0019-10 1370 Extended tip ® 1.0mm/LT50; 1 K GiH ® 1.0mm/LT50
5.2 1VU0018-10 1395 Extended tip ® 1.0mm/LT50-70;10 € B{H ® 1.0mm/LT50-70
MACHINE TORCH 5.3 1VU0018-11 Extended tip ® 1.1mm/LT50-70;1 K Wi% ® 1.1mm/LT50-70
i~ B 6 1VU0064-10 1305 Conical tip ® 1.0mm/LT50-70;4 i ® 1.0mm/LT50-70
1/8G 7 Tip;h B
9 7.1 1VU0033-10 1396 Tip ® 1.0mm/LT50-70;8% B ® 1.0mm/LT50-70
- 16 7.2 1VU0033-11 Tip ® 1.1mm/LT50-70; B ® 1.1mm/LT50-70
7.3 1VU0033-12 Tip ® 1.2mm/LT50-70;5 B ® 1.2mm/LT50-70
7.4 1VU0065-10 1304 Tip ® 1.0mm/LT50-70;%% B ® 1.0mm/LT50-70
Ki 1/4G
8 IVF0002 Diffuser LT50-70;4} ##t# LT50-70
S 9 1VB0015 1518-HF Extended electrode HF Plasma LT50;11 4 % & F B #R/HF/LT50
10 1VB0062 1521-HF Electrode HF Plasma LT50;% & B R/HF/LT50
18a 11 V20050 Plasma torch head LT50;% B F#8 3k LT50
M14X1 1la IFT0707 " 0"ring ® 12.42x1.78mm in silicon red; ORI ® 12.42x 1. 78mm/EER/4L &
: 18 12 1GV0039 Plasma handle manual/CB50-70/Red;% & F F T F#i/CB50-70/4 &
. 13 1HJ0722 Protection part/Plasmal/Yellow; 7 X R4 /55 F AR &
m_ 17 14 1HQ0070 185.0031 Trigger;FF 3%
15 1HJ0893 Joint/small/new type;Bk ¥5 & fH/1NVET R
M16X1.5 16 Cable assembly;H 4548
; 20 Central adaptor 16.1 1VN00006066-00 Cable assembly/LT50-70/6MMQ/6M ATT.1/8G;FL448/L T50-70/6MMQ/6M ATT.1/8G
|_ |_ ‘:F 9% TE]‘A ;1: 16.2 1VN00006060-00 Cable assembly/LT50-70/6MMQ/6M CENTER ADAPTOR;H£54R/L T50-70/6MMQ/6Meh 52 #isk
19 16.3 1IVN10006060-00 Cable assembly/LTM50-70/6MMQ/6M CENTER ADAPTOR;BL4§48/L TM50-70/6MMQ/6M e i sk
16.4 1VN10006066-00 Cable assembly/LTM50-70/6MMQ/6M ATT.1/8G;H4{48/L TM50-70/6MMQ/6M ATT.1/8G
16.5 IVN0628 Cable assembly LT50-70/6m central adaptor;e # 43 LT50-70/6m/ 51 sk
18 1VZ0085 Plasma torch head LTM50;% & F48 3k LTM50
Current SHRRE 50 Amp |—21 18a 1GV0013 WO0 300144 Fiber glass position tube/LTM; & &1 F48 LTM
19 Cable assembly LTM;E 4§48 LTM
Duty Cycle LH#iZ 60% 19.1 1275687 Connecting adaptor 1/8G-1/4G ¥ #3%3£1/8G-1/4G
Gas S{F AIR =5 19.2 1275688 Connecting adaptor 1/8G-M14x1;#% #3# £1/8G-M14x1
Gas Pressure 5/F 4.5-5.0 Bar 19.3 1275689 Connecting adaptor 1/8G-M16x 1.5 ## % £1/8G-M16x1.5
Gas Flow S8 120LPM 20 1ZX0078 C?nlral ad‘aplortorch side Plasma 5 pins; % 2 F 1 SR 4 k/55+
21 ISM0081 166 Circle cutting attachment/LT50;E & ] &I ¢4 LT50
Ignition 3355 HF &45i —
Post Flow S{#3ERT 50 sec. recommended #5075
Standard Length #REH 6M




